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' SECTION A (28 x 2 marks)

For each question from 1 to 28, four options are given. One of them is the correct
answer. Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on the
Optical Answer Sheet (OAS) provided.

1. Susan camied out an experiment on the germination of seeds using two
containers, P and Q, in her room as shown below. She observed the seeds in
the containers over one week. -

seed oil éeed
l L ___l boiled
— ...—{ — oot water

= o

\‘\_ /

wet cotton wool

Container P Container Q

Based on this experiment, what could Susan most likely observe and conclude?

(1) Seeds in both containers did not germinate, as sunlight was absent.

(2) Seeds in container Q did not germinate as the layer of oil blocked out
sunlight.

(3) Seeds in container P germinated but not those in container Q as there
was no air in container Q..

(4) Seeds in container Q germinated but not the seeds in container P as water
was absent in container P.

1 2019 P6 Science SA1

www.TestPapersFree.com



James wanted to find out the conditions needed to slow down the rate of
decomposition. He carried out the following experiment using three fresh

mushrooms in each of the flasks, A, B, C, D and E. He kept the mushrooms in
different conditions.

at 30°C at 30°C at 30°C at 5°C at5°C

A B c
water liguid to remove - water
water vapour

After one week, he recorded his observations in the table as shown below.

Flasks A B C D E

Shows signs of
decomposition Yes Yes No No Yes

Based on his findings above, which one of the following conditions would slow
down the rate of decomposition?

(1) moist

(2) at30°C

(3) dryandat5°C
{(4) moist and at 5°C
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3.

The diagram below shows the life cycle of a flowering plant.

seed

seedling

\/

adult plant

Which of the following processes take place at X and Y respectively?

O O w >

(1)
(2)
(3)
(4)

Fruit formation
Dispersal of seed
Pollination of flower

Germination of seed

Process(es) atX Process(es)at Y
Donly. . A, B and C only
A, B and D only C only
Band C oﬁiy B A and D only
A and D only B and C only
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4. The table below shows the characteristics of Mr and Mrs Lim.

MrLim Mrs Lim
Natural hair colour brown black
Hair length short short
Types of eyelids single double
Ears attached earlobes detached earlobes

Which of the following states correctly the inherited characteristics of each of
their four children?

(1
(2)
(3
(4)

Child lnherited traits
A long and brown hair, attached earlobes
B short hair, detached earlobes, single eyelids
C black hair, double eyelids, detached eariobes
D brbwn hair, double eyelids, attached earlobes
A only
B and C only
C and D only
A, B and D only

4 2019 P6 Science SA1

www.TestPapersFree.com



L8 Study the diagram below.

Pollen grains from male
flower

r

Process A

Female flower

Process B

y

The ovary
becomes X

4

The ovule
becomes Y

Which one of the following correctly identifies A, B, X and Y?

(1)
(2)
(3)
(4

Process Paris of the plant
A B X Y
pollination fertilisation seed fruit
fertilisation pollination fruit seed
pollination fertilisation fruit seed
fertilization pollination seed fruit
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Sheila counted the number of wild plants X and Y on a piece of land over
several months. Her observations are shown below.

A Plant X

% Wind direction ® PiantY

L river

Before

Which one of the following correctly identifies the characteristics of the fruit
and seeds of plants X and Y?

Physical characteristics the fruit most likely has
Plant X PlantY
(1) waterproof covering edible and fleshy
(2) hooks pod-like structure
(3) fibrous husks waterproof covering
(4) edible and fleshy hooks
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Four different types of food, P, Q, R and S, were mixed with digestive juices
when passed through the digestive system.

The graphs below show the amount of undigested food left at the start and at

the end of ten hours.
Amount of undigested Amount of undigested
food food
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Type of food

&

At the start of ten hours

Type of food

At the end of ten hours

Based on the above graphs, which type of food would be mostly absorbed into
the bloodstream in the small intestine of the digestive system?

(1)
(2)
(3)
4

NIXOT
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8.  The diagram below shows the different stages of development, A, B, and C, of
a plant. ’

Stage A Stage B Stage C

At which stage(s) shown above does/do the seed leaves provide food for the
plant to grow?

{1) A only

(2) B only

(3) A and B only
(4) A,Band C
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9. The diagrams below show three cells P, Q and R.

Which one of the foliowing statements is correct?

(1)  Only P and R have cell wall and chioroplasts.

(2) Qs ananimal cell as it does not have chloroplasts.

(3) Qis aplant cell found in the leaves and roots of plants.

(4)  Allthree cells are plant cells as they have nucleus, cell wall, chloroplast and
cyteplasm. i ‘

10. Befity drew the diagram below to show the direction of blood flow in the human
body represented by the arrows.

lungs ¢
A Fs
B D
v
heart
E
C | =
lower limbs

Which arrow(s) represent(s) the direction of blood flow incorrectly?

(1) F only

(2) B and D only
(3) C and E only
(4y AandFonly
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11.

The set-up in diagram 1 was used to measure the distance moved by an air
bubble in the glass tube when the plant took in water.

Lily added a fan beside the set-up (diagram 2) to study how the speed of the
fan affects the distance moved by the air bubble in the glass tube.

fan can be S
set at s
plant different

plant
speeds
glass tube — glass tube
ruler —j ruler — .
air bubble air bubble
. H
i olt —zzzz
oil - beaker
. 3 ~—— beaker of water TR of
i ) | [ water
Diagram 1 o Diagram 2
Which one of the following correctly exp_léihs why the air bubble moved a
greater distance up the glass tube when the fan speed increased?
(1}  More water was evaporated from the beaker of water.
(2) The wind from the fan increased the rate of condensation.
(3) The rate of photosynthesis increased as the fan speed increased.
(4) More water was lost in the form of water vapour through the stomata.
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12,

The graph below shows the change in the population of tigers in a jungle.
Tigers feed on other animals such as deer and wild boars.

Number
of tigers Y

B

Time

Which of the following event(s) could most likely to have caused a change in
the tiger population from Point X to Point Y on the graph?

A
B
C

(1)
(2)
(3)
(4)

An increase in the food source for deer.
An increase in the reproduction rate of wild boars.
An increase in the population of other animals feeding on deer.

C only
Aonly
A and B only
B and C only
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13.

The table below shows the characteristics of the environment found in four

different habitats during the day.
Avarage Amount | Amount
Habitats temperature of water | of light
{*C)
A 30 Plenty Littie
B 5 Little Little
C 42 Little Plenty
b 25 Pienty Plenty

Organism X has the following characteristics:

- Sensitive to light
- Breathes through moist skin
- Able fo five in areas with temperature range from 20°C to 32°C

Which one of the following habitats, A, B, C or D, would be best suited for

Organism X?
M A
(2) B
3y  C
4 D

12

www.TestPapersFree.com

2019 P6 Science SA1



14.

The number of organisms in a pond is shown in the table below.

Organisms Number of organisms
ducks 4
frogs 6
tadpoles 7
water lily 3
male goldfish 4
goldfish eggs 20
female goldfish 6
water hyacinth 5

Based on the information above, which of the following statements is correct?

(1)
(2)
(3)
(4)

There is 1 habitat and 5 populations.

There is 8 communities and 1 habitat.

There is 1 community and 8 populations.

There are 55 populations and 5 communities. -
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15.  Study the food web below.
A ‘”"“7 D
c \
E

B

Which of the foliowing statements best describes what will happen to the
other populations if the population of D is wiped out by a disease?

(1) Population A will increase.

(2) Population E will decrease.

(3) Population C will decrease.

(4) Population B will remain unchanged.

16. Peterwanted to find out if carbon dioxide is needed for photosynthesis. He used
a plant which had green areas in the middle and white areas around the edges
as shown below.

clear plastic bag

substance that absorbs
carbon dioxide

Which of the following two areas should Peter compare to show that carbon
dioxide is needed for photosynthesis?

(1) AandBonly
(2) AandConly
(3) B andDonly
(4) CandDonly
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17.  The diagram below shows a tent.

Study the properties of the four materials shown below.

Material . Property of material
Waterproof Flexible Strong

A N 3

B xl v v

c v

D N

Which material is most suitable for making part X of the tent?
(1) A
(2) B
(3) C
4 D
15 2019 P6 Science SA1
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18. The diagram below shows a container containing an ice block left in an air-
conditioned rcom with a constant temperature of 18°C and the change
observed after five minutes.

ice —¢ ’

Before

Which of the following statement(s) is / are correct?

A The temperature of ice remained at 0°C.

B The temperature of ice and water rose to 18°C.

Cc The ice melted as it gained heat from the water only.

D The temperature of water remained at 0°C when the ice is
melting.

(1) B onily

(2) C only

(3) A and D only
(4) B and C only
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16.

The graph below shows the temperature of solid substance X when heated.

Temperature (°C)

180°C

40°C

.

Lo

Time (s)

Which one of the following shows correctly the state(s) of substance X at

20°C and at 210°C?
State of substance X at
20°C 210°C
(1) solid liquid
(2) solid gas
(3) tiquid gas
(4) liquid liquid
17
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20. Sami used the set-up below to attract iron pins.

[ iron rod

—‘:|_

tums of wire

IE N R WY

S N

-q_.‘..-l""'—&,_‘_‘

___./..__ > iron pins

He added more batteries in the set-up and recorded the number of pins
attracted.

Number of pins atiracted

F 3

A

/.

[,
™

Number of batteries

Which one of the lines, A, B, C or D, in the graph shows the resuit of his

experiment comectly?
n A
(2) 8
(3 C
4 D
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21.

William set up a circuit as shown below. He wanted the bulb in the circuit o
switch on and off on its own after he had tumed on the switch.

iron rod

i

P

However, when William turned on the switch, he observed the bulb it up. The
bulb only went off when he turned off the switch.

Which of the following could have caused this to happen?

P is made of

A steel

B wood

C copper

(1) Aonly

(2) Bonly

(3) Coniy

(4) AandBonly

19
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22.  Similar rods of different materiais were placed near a bar magnet as shown
below. d

( YO N S

Rod Bar magnet

Part Y of each rod was brought near to the North-seeking pole and South-
seeking pole of the bar magnet. The results are shown in the table below.

Material of Rod North-seeking pole .South-seeking pote
A Attracts Repels
B Attracts : Atftracts
C Repels Aftracts

D Remains in its original | Remains in its original
position position

Which one of the following statements is correct?

(1) C can attract D.

(2) A, Band C are magnetic materials.
(3) B and D can be made into magnets.
(4) A and C are poor conductors of heat.
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23. Ah Seng kicked a soccer ball with his foot. The diagram below shows the path of
the ball after he had kicked it.

Which of the following statements about the soccer ball isfare true?

A When it reached the ground at R, no force acted on it.

B Its kinetic energy increased és it moved from P fo Q but decreased as it
moved to R.

C  Whenit reached Q, there was greatest amount of gravitational force acting
on it

D The amount of gravitational force acting on it is the same throughout its
journey from P to R.

{1) Aonly
(2) Donly

(3) BandConly
{4) A,Band Conly
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24. Two identical blocks are placed on two ramps of the same size. The blocks
were released from the same height. The block in set-up A did not move but
the block in set-up B slid down the ramp.

ramp

block

ramp

Which of the following statements is/are likely explanation(s) for the

observation?

A The block in Set-up B has greater gravitational force acting on it than
that in Set-up A.

B There is greater frictional force between the block and the ramp in Set-
up A than in Set-up B.

C in Set-up A, the frictional force between the block and the ramp is
greater than the gravitational force acting on the block.

(1) Aonly

(2) Bonly

(3) AandBonly

(4) BandConly
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25.

Mary set up an experiment in a dark room. She shone a torch on a ball as
shown in the diagram below. A shadow of the ball was cast on the screen.

| )

torch ball

What could Mary do fo cast a smaller shadow on the screen?

o0w>

(2)
(3)
(4

" Move the torch towards the ball.

Move the screen towards the ball.
Move the torch further away from the ball. .
Move the ball further away from the torch.

A and B only
B and C only

C and D only
B, C and D only
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26. John was instructed by his uncle to fit a metal rim tightly round the wooden
cartwheel, as shown in the diagrams below.

FEtEE AR wooden cartwheel wooden cartwheel
metal im
L
Before fitting the rim After fitting the rim
round the cartwheel round the cartwheel

However, the metal rim that John had was too small to fit round the wooden
cartwheel. His uncle suggested two steps to complete the task.

Which of the following steps would allow John to fit the metal rim tightly round
the wooden cartwheel in the shortest time?

A immerse the metal rim and woodén cartwheel in cold water before fitting the
metal rim round the cariwheel.

B Heatthe metal rim and immerse the wooden cartwheel in cold water before
. fitting the metal rim around the cariwheel.

C . Immerse the metal rim and cartwheel in hot water after fitting the rim round
. the cartwheel.
D immerse the metal rim and cariwheel in cold water after fitting the rim

around the cartwheel.

{1) AandC only
(2) AandDonly
(3) BandConly
. (4) Band D only
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27. Ahmad conducted an experiment using set-ups X and Y as shown below. In set-
up X, he wrapped a glass beaker with material A. In set-up Y, an identical glass
beaker was wrapped with material B. He filled both beakers with the same
volume of hot water at 85 °C.

thermometer thermometer
lid lid
material A material B

The graph shows the temperature in both set-ups over 10 minutes.

Temperature /°C
_ Sét—up X

Set-up Y

.
B

Time/min

Which one of the following describes the use of material A or B correctly?

(1} Material A can be used to make an ice box to reduce the rate of ice melting.

(2) Material A can be used to make a cocking pot as it is a better conductor of

heat.
(3) Material B can be used to make the handle of a cooking pot as it is a poorer

conductor of heat.
(4) Material B can be used to make a lunchbox as it can keep food warmer for

a longer period of time.

25 2019 P6 Science SA1
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28. The school installed a pinball machine as shown below to demonstrate how
energy can be converted from one form to another. When a pupil pushes the
knob, the compressed spring will shoot a metal bali into the maze and finally it
rings the bell fo signal a score which is lighted up on the screen.

screen

@ I
& @ metal ball

Which one of the following shows the energy conversion when a pupil pulls the
knob until a point is scored on the screen?

(1)
2)
(3)
(4)

kinetic energy —»-electrical energy —» sound energy + light energy

elastic potential energy —* kinetic energy — sound + light enegy

elastic potential energy — electrical energy — kinetic + sound energy
kinetic energy — elastic potential energy — kinetic — sound + light energy

26 2019 P6 Science SA1
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SECTION B (44 marks)
For questions 29 to 41, write your answers clearly in the spaces provided.
The number of marks available is shown in the brackets [ ] at the end of each question or part

question.

29.  Diagrams 1 and 2 show the plant reproductive system and the female human
reproductive system respectively.

A @QM C_

Diagram 1 Diagram 2

(@) Indiagram 1, which parts of the flower, A, B, C, can be removed such that the
flower can still develop into a fruit? Explain your answer. [2]

(b}  Based on the two diagrams above, which parts, A, B, C, D, E, correcily identify
where fertilisation takes place in the plant and human reproductive systems? [1]

Score 3
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30. The diagram below shows how substances are moved from one system to another in

a human body.
Respiratory Digestive
System System
oxygen Y
System X
Key
—— direction in which
oxygen and Y substance(s)
v move(s)
other parts of .
the body
(a) Which system in the human body best represents X? [}
(b) What is the substance Y after digestion? i1

(c)  Explain why oxygen and substance Y are needed fo be transported to
ather parts of the body. (11

Score
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31.  The diagram below shows the cross-section of a pond.

The table below shows the temperature and the number of organisms found in the

different layers of the pond

-

Layer of the pond Temperature of pond (°C) | Number of organisms
X 18 to 24 22
Y 7 {017 14
Z 4106 4

(a) Based on the information above, what is the relationship between the
temperature of the pond and the number of organisms in it? [}

{b) The graph below show how light intensity changes with depth of the pond.
Light intensity (units)

A

3

> Depth of pond {(m)

Based on the information above, what will happen to the number of organisms
in the pond as the light intensity in the pond decreases? [1}

Confinue on next page

29
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Continued from previous page
(¢) The number of plants floating on Layer X of the pond increases significantly.
What would happen to the number of animals in Layer Z if they feed on Planis
in Layer Z? Explain your answer. 2]

32.  The graph below shows the poputation of plant A in a garden. Animal B was
introduced into the garden at point X.

Population of i
organismsin a
garden

__________ Animal B

\ Plant A

> Time {(weeks)

(a) Based on the information above, if Animal C feeds on Plant A and Animali B,

draw arrows to complete the food web below. 4]
Piant A Animal B
Animai C
(b) Fill in the letters A, B andfor C in the boxes below. {1
Prey(s) Predator(s)
Continue on next page - ) Score 4
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Continued from previous page

(c) What would happen to the population size of Animal B if population of Animal G
was wiped out by a disease? Explain your answer. {2}

33. Chloe set up an experiment with four similar pots of plants, as shown below. The
plants were placed in a dark room for forty-eight hours before the start of the
experiment. All the boxes were of the same size but made of two different materials,
Y and Z. Chemical X in set-ups P and Q absorbed carbon dioxide. The boxes were
left in the sun for three hours. ‘

material Y material Z matetial Y material 7
/ / / - /
plant
yd

H H
\ \

chemical X = chemical X

~ After three hours, starch test was performed on the Ieavés from each set-up. Only
~ the leaves in set-up R showed the presence of starch.

(8) ldentify the property of material Z. Explain your answer. {2

(b)  Which pair of set-ups can be used to show carbon dioxide is needed for

photosynthesis fo take place? Explain your answer., 2]
Score
6
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34. Bryan and his friends carried out the experiment below to obtain water from
sea water.

plastic sheet
stone

ground

sea water water bow!

(a) What would happen to the amount of water collected in the bowl if Bryan

and his friends replaced the bowl with a smaller one? m
(b) Explain your answer in (a} " 2}
Score 3
32 2019 P6 Science SA1

www.TestPapersFree.com



35. Maison has a toy that works on batteries as shown in the diagram below.

switch B

/

/
switch A | v

She recorded her observations in the table below when she tumed on the

switches.
Switches which were turned on Observation
BothAandB . Dancer moved in a circle with music.
A only Dancer did not move.
There was music.
B only Dancer moved in a circle.
There was no music.

Maison drew a diagram to represent how the parts of the toy are connected in an
electrical circuit,

A B
~ ™

music

player motor fo move

dancer

(a}) Maison’s teacher told her that her circuit diagram was incomect. Explain why

it was incorrect. {2]
Score
2
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Continued from previous page

(b} In the space provided, draw 3 wires fo complete the arrangement correctly

below to show the observations made by Maison. 2]
A B

music motor

player : #
move
dancer

Score
2
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36. Ahmad taped a bar magnet with poles X and Y, onto a piece of styrofoam biock and

spun it ten times in a basin of water. The diagram below shows the top view of the set-

up when the magnet was at rest. The bar magnet always came to rest in the direction
as shown in the diagram below.

Top view of set-up

The direction North is shown in the compass below.

{(a) Based on Ahmad's results, which property of magnets is shown in his
observation?

N

(b) The diagram below shows the bar magnet piaced near a compass.

bar magnet

compass

Label the needle of the compass ‘N’ for north or ‘S* for south when the magnet
is placed near it as shown in the diagram above. Explain your answer. {2

Score 3
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37. Some puplls carried out an experiment to find out how different loads hung on Springs
A and B affect the length of two springs. The results are shown in the graph below.

Spring A

80

70
60

L~
50 /’
40 /’

30

Spring B

Length of spring /em

20

10

0 20 40 B0 80 100 120 140 160
Mass of load/g

(a)  What is the length of Spring A when 40 g load is added to Spring A?
5 {1

(b) Which Spring, A or B, wilf extend more when 100g load is added? (1

{c) Based on the graph above, what is the relationship between the length of the
spring and the mass of the load added? 1]

Score 3
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38. MrslLeesetupan expeﬁment using two identical strong magnets as shown in the
diagram below. Both Magnets A and B have a weight of 1 N each. (N stands for
Newtons which is the unit for force).

(a)

(b)

e (i)
(ii)

(c)

=
spring balance m
string '
S
MagnetB ——
. H|
thin sheet of paper - retort stand
MagnetA — N
S
weighing <o e
redle ()
{ e ]

Based on the experiment above, what isfare the force(s) acting on Magnet 8?
o 11

What readings will be shown on the weighing scale and spring balance?
(lessthan 1 N, 1 N or more than 1N) [1}

Reading on weighing scale

Reading on spring balance

What is most likely to be the reading on the weighing scale if the thin sheet of

paper is repfaced with a piece of steel sheet 7 Explain your answer. (1]
Score 3
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39.

(a)

(b)

Andy set up an experiment to investigate the degree of transparency of four different
materials. The diagram below shows Andy’s experiment set-up.

material tested

Light sensor
connected to
torch

dataloEger

The light sensor and torch were switched on throughout the experiment. First the
reading was taken without the matesial placed in the set up for the first two seconds.
Then the material was placed in the set up and the reading was recorded for the next-
two seconds before it was removed. After an interval of two seconds, the next material
was placed in the set-up. '

The graph below shows the amount of light detected by the light sensor, 1000 units
indicate the amount of light when no material was placed in the set-up.

Amount
of light 4 )
(units)
1000 l [
0 2 4 6 8 10 12 14 16 18 Time (s)
Based on the graph, determine the sequence of materials tested in Andy's experiment
by putting 1 as the first material tested and 4 as the last material tested. 2]
Material Sequence of material tested
aluminium foil
clear glass
frosted glass
mirror
Explain your choice of material from 6 s {o 8s time interval. 1]
Score 3
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Three identical beakers of water at different temperatures were placed side by side as
shown below during a Science experiment.

Beaker A Beaker B Beaker C

(8)  On the diagram above, draw an arrow to indicate the direction of heat transfer
between water in beaker B and C at the beginning of the experiment. {1

(b)  Compare the amount of heat energy in beakers A and B at the beginning

of the experiment. Explain your answer. [1}

(¢) The teacher told her pupils to mix water from beaker A and beaker C together
into one beaker as shown below.

Beaker A Beaker C Beaker D

30mi 30ml 60m!
(d) Whatis fikely to be the temperature of water in Beaker D? 11
Score 3
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41. A pail of water was hung above a basin as shown below. A very small hole was made
at the bottom of the pail for the water to drip into the basin. A sound was produced
each time as each water droplet fell on the basin.

Gerald placed a datalogger with sound sensor near the basin, the following graph was
displayed on the datalogger screen.

datalogger with pail of smali hole

sound sensor

water droplet

L Oy —— basin

25

20+

N
=
C
=)
o
Q@
=
©
3
Q
A

15-

10.

e
5 10 15 20 25 30 35 40 45 50 55 60 65  Time (s)

(a)  Fiitin the blanks to show the main energy conversion when the water

droplets fell into the basin. f1]
B o e
Energy Energy Energy
(water in the pail) (dripping water) (water droplets fell onto basin)
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Continued from previous page

(b)  What happened to the loudness indicated by the sound sensor if Gerald
raised the pail of water higher from the basin? Explain your answer. [2]

Gerald modified the experiment set-up v}ithout changing the height of the pail of
water and obtained the results as shown in the graph below.
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(c)  Suggest how Gerald could modify the experiment set-up to obtain the results

as shown in the graph above. [1]
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SCHOOL RAFFLES GIRLS’ PRIMARY SCHOOL

LEVEL : PRIMARY 6
SUBJECT : SCIENCE
TERM 2019 SA1
SECTION A
Q1 | 2 [ @3 [ @4 | @5 | @ | o7 | a8 | @ | ai0_
3 3 K 3 3 1 3 3 1 4
Qi Q12 Q13 Q14 Q15 Q16 Q17 Q18 Q19 Q20
4 1 1 1 2 3 2 3 2 3
Q21 Q22 Q23 Q24 Q25 Q26 Q27 Q28
3 2 2 4 4 4 1 4
SECTION B
Q29) a)Part A and B. The stigma on the flower can still receive pollen grains
from another flower. Hence fertilization can still occur/Hence
fertilization can still fuse with the female reproductive cell.
b)C and D,
Q30) | a)Circulatory system.
b)digested food.
c)To provide energy for the b* 1an.
Q31) | a)The higher the * .¢ pond, the greater the number of
organisms ~
b)The numkL .#sms in the pond would decrease.
c¢}The populal .. of Animals in Layer Z which feeds on the plants
living in Z will decrease too due to lack of plants to feed on.
Pg1
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Q32)

a)PantA [Eam— Animal B

'

Animal C

bB / C
¢)The population of Animal B will increase. As there would be no
predator animal C, to prey on animal B. There will also be more food,

plant A for animal B since there will be no animal C feeding on plant A.

Q33})

a)it does not allow light to pass through. Starch is produced when the ’
plant can photosynthesise. If the plant in set-up Q was not able to
produce starch, that meant that it was not able to photosynthesise.
Photosynthesise can only take place when light is present.

b)Set-up P and R. The plant in set-up R was able to photosynthesise,
meant that material Y allows light to pass through, so by using set-up
P made of material Y, and there is chemical X inside which absorbs
carbon dioxide and there is no chemical X inside set-up R, Hence, set-
up P and R can be used to show carbon dioxide is needed for

photosynthesis to take place.

Q34)

a)The amount of water collected would be greater'. o

b)When a smaller bow! was used. The exposed surface area of the sea
water increased. Hence, more water will (gain heat and )Jevaporate,
higher rate of evaporation more water vapour condensed into more

water droplets on the plastic sheet which will be collected in the bowl.

Q35)

a)When either Ao~ " 1 off, it formed an open circuit,
electricity, r- «gh and neither dance nor the music

will work.

Pg 2
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b)

A B
S . r - ]
mus'c ! I —\J
i mot
player . ) I (‘_M o or
!, move
dancar

Q36) | a)A freely suspended magnet will come to rest in a north-south
direction. '
b)Unlike poles of the bar magnet and needle are facing each other and
they attract.
Q37) | a)30cm
b)spring A
c)The heavier the mass of the load added, the longer the length of the
spring.
Q38) | a)Elastic potential energy, magnetic force.
b)i)more than IN.
ii)less than IN.
c)IN. Magnetic fr .arough the steel sheet which is a
magnetic - .«ere is no magnetic force of repulsion
acting on th .4 scale.
Q39) |(a)2,3 1 4
b)The material is opaque, as there was no light detected by the light
sensor, stating that the material did not allow light to pass through.
Pg 3
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Qa0) |a)

BeakerA  BeakerB  BeakerC

b)There was less heat energy present in the water of beaker A than
beaker B because it had smaller amount of water.
d)e0C

Q41) | a)gravitational potent'i;;ll -> kinetic energy - sound energy

b)The higher the pail of water was dropped, the greater gravitational
potential energy of the water converted to more kinetic energy which
will be converted to more sound energy.

c)He made a bigger hole at the bottom of the pail.
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